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݁௫sin ݔ ೙ݔ√

ݕ = (ݔ)݂ [ܽ, ((ܽ)݂,ܽ)ܣ [ܾ ((ܾ)݂,ܾ)ܤ (଴ݔ)݂,଴ݔ)ܥ଴ݔ ݕ − (଴ݔ)݂ ଴ݔ)′݂ ݔ) − ଴ݔ)′݂(଴ݔ



௫଴ܫ ≡ ଴ݔ) − ,ݔ∆ ଴ݔ + ଴ݔ(ݔ∆ ݔ∆ ௫଴ܫ
ݕ = (ݔ)݂ = ଷݔ− + ଶݔ5 − ݕݔ4 = ݔ + 2 ݕ = (ݔ)݃ = ݔ +3,285 ଴ݔ = ଴ݔ2,727 ݔ∆ = 0,1



௫଴ܫ ≡ (2,727 − 0,1; 2,727 + 0,1) = (2,627; ݔ2,827 ௫଴2,75ܫ =
6.035 − 6,015 = 0.02

ݔ∆ ܴଵܫ௫଴݂(ݔ) ≈ (଴ݔ)݂ + ଴ݔ)′݂  ݔ) − (଴ݔ
(ݔ)݂ = (଴ݔ)݂ + ଴ݔ)′݂  ݔ) − (଴ݔ + ܴଵ

௫଴ܫ ଴ݔ
(ݔ)ܲ = ܣ + ݔ)ܤ − (଴ݔ + ݔ)ܥ − ଴)ଶݔ

ܣ = ܤ (଴ݔ)݂ = (଴ݔ)′݂ 



(ݔ)௫଴ܲܫ(ݔ)݂ = (଴ݔ)݂ + ݔ)(଴ݔ)′݂ − (଴ݔ + ݔ)ܥ − ଴)ଶݔ

ܲᇱ(ݔ) =  ݂ᇱ(ݔ଴) + ݔ)ܥ2 − (ݔ)′′ܲ(଴ݔ = ܥ2  = (଴ݔ)′′݂

଴ݔ = 2,727 (ݔ)2,75݂ = ଷݔ− + ଶݔ5 − =ݔ4 ݂(2,75) =
(ݔ)ܲ = 5,99523 + ݔ) 0,960413 − 2,727)  − ଵଶ ݔ) 6,5 − 2,727)ଶ == ଶݔ 3,25− + ݔ 18,6859 − (ߦ)20,7925ܲ = ܲ(2,75) = 6,01560

(ݔ)ܲ = (଴ݔ)݂ + ݔ)(଴ݔ)′݂ − (଴ݔ + ௙ᇲᇲ(௫బ)ଶ ݔ) − ଴)ଶݔ



ܴଶ(ݔ) = ߦ (ߦ)ܲ− = 6,01563 − 6,01560 = ௫଴ܫ0,00003 (ݔ)݂ = (ݔ)ܲ + ܴଶ௫ܴଶ௫ ܴଵ

;௫଴(2,627ܫ 2,827 ଴ݔ = 2,727



ଶܴଵܴ(ݔ)݂

ݕ = (ݔ)݂ ݕ଴ݔܧ = ݊(ݔ)݂ − 1 ଴ݔ
ܲ௡(ݔ) = (଴ݔ)݂ + ݔ)(଴ݔ)′݂ − (଴ݔ + ௙ᇲᇲ(ೣబ)ଶ! ݔ) − ଴)ଶݔ +⋯+ ௙೙(௫బ)௡! ݔ) − ଴)௡ݔ ݕ = (ݔ)௡ܲ(ݔ)݂ ܴ௡(ݔ

(ݔ)݂ = ܲ௡(ݔ) + ܴ௡(ݔ
ܴଶ ܴଵ

(ݔ)݂




